

MEETING DATE: March 22, 2021

AGENDA ITEM: Consider Approval of Purchase of Technology Equipment for Annetta Elementary School and Student Enrollment Growth

PRESENTER: Brooks Moore, Director of Technology and Earl Husfeld, Chief Financial Officer

BACKGROUND INFORMATION:

- Per Board Policy CH (Local), any single, budgeted purchase of goods or services that costs \$50,000 or more, regardless of whether the goods or services are competitively purchased, shall require Board approval before a transaction may take place.
- As we discussed during the February 22 board meeting, with Annetta Elementary School opening in August 2021, the District needs to purchase several technology related items that are not included within the 2019 bond construction contract with Satterfield and Pontikes.
- These technology related items include network switches, routers, wireless access points, telephones, computers, Chromebooks, iPads, promethean boards, etc.
- Additionally, in order to accommodate projected student enrollment growth and begin the replacement process of old Chromebooks, the District needs to purchase more Chromebooks for students and carts for classrooms.
- In consideration of potentially long lead times due to the COVID-19 pandemic, the District is presenting this item to you for consideration and action at this time. Current lead times for certain items included in this purchase, specifically Cisco network equipment, are as long as 100 days.

FISCAL INFORMATION:

The \$1,342,616.04 cost of these items will be paid from the following sources: 2019 bond funds allocated to Annetta Elementary School, e-rate funding, and remaining 2015 bond funds earmarked for student enrollment growth.

ATTACHMENTS:

Summary Spreadsheet of Technology Equipment to be Purchased and Quotes/Proposals from Netsync, ProComputing, ByteSpeed, and Dell.

ADMINISTRATIVE RECOMMENDATION:

The Administration recommends the Board of Trustees approve the purchase of technology equipment for Annetta Elementary School and student enrollment growth as presented.

	Aledo Indepe	endent School D	District						
Т	echnology Equipment for Annetta Ele	mentary School	and Stude	ent Enrollme	ent Growth				
	March 22, 2021								
Location	Item	Vendor	Quantity	Unit Cost	Total	Grand Total(s)			
Annetta Elementary	Network (50% E-Rate Eligible)	Netsync			\$155,366.52				
Annetta Elementary	Network (Non E-Rate Eligible)	Netsync			\$158,269.77				
Annetta Elementary	Promethean Boards	ProComputing	57	\$4,245.00	\$241,965.00				
Annetta Elementary	Computer for Promethean Boards	ByteSpeed	57	\$579.00	\$33,003.00				
Annetta Elementary	Device Carts	Dell	57	\$824.55	\$46,999.35				
						\$635,603.64			
District	Chromebooks (Growth/Replacement)	Dell	2500	\$273.57	\$683,925.00				
District	Device Carts (5th Grade)	Dell	28	\$824.55	\$23,087.40				
						\$707,012.40			
	Grand Total					\$1,342,616.04			

NE ₁	SYNC					
2500 West Loop South, Ste.						
410/510						
Houston, TX 77	7027 USA					

713.218.5000



Quote #:	AAAQ329201-02
Date:	02/25/2021
Valid for:	30 Days

Customer	Inside Sales	Account Manager
Aledo ISD	Timothy Fain	Kristy L Dice
Michael Lotter / (817) 207-3051	tfain@netsync.com	kdice@netsync.com
mlotter@aledoisd.org	512-762-1365	

Please send purchase order to: PO@netsync.com

Line #	Part	Descrption	Qty	Unit Price Ex	ct Price
Elemer	ntary School 6			Sub Tota	228,627.44
	abor - Includes Technol	ogy Building			
1.0	NET-PRO-SRVC	Installation & Deployment per SoW. EN: Route & Switch ,EN: Wireless & Mobility	4	3,071.36	12,285.44
С	ore Switches				
2.0	C9500-16X-A	Catalyst 9500 16-port 10Gig switch, Advantage	1	6,614.00	6,614.00
2.1.0	C9500-NW-A	C9500 Network Stack, Advantage	1	0.00	0.00
2.2.0	S9500UK9-169	UNIVERSAL	1	0.00	0.00
2.3.0	PWR-C4-950WAC-R	950W AC Config 4 Power Supply front to back cooling	1	0.00	0.00
2.4.0	PWR-C4-950WAC-R/2	950W AC Config 4 Power Supply front to back cooling	1	840.00	840.00
2.5.0	CAB-TA-NA	North America AC Type A Power Cable	2	0.00	0.00
2.6.0	C9500-NM-BLANK	Catalyst 9500 network module blank cover	1	0.00	0.00
2.7.0	C9500-DNA-16X-A	C9500 DNA Advantage, Term licenses	1	0.00	0.00
2.7.1.0	C9500-DNA-L-A-3Y	Cisco Catalyst 9500 DNA Advantage 3 Year License	1	2,840.00	2,840.00
2.8.0	PI-LFAS-T	Prime Infrastructure Lifecycle & Assurance Term - Smart Lic	3	0.00	0.00
2.8.1.0	PI-LFAS-AP-T-3Y	PI Dev Lic for Lifecycle & Assurance Term 3Y	3	0.00	0.00
2.9.0	NETWORK-PNP-LIC	Network Plug-n-Play Connect for zero-touch device deployment	1	0.00	0.00
2.10.0	CON-SW-C95K16XA	SNTC-NO RMA Catalyst 9500 16-por Duration: 5.00 Years	1	1,356.80	1,356.80
С)ptics				
3.0	SFP-10G-SR-S=	10GBASE-SR SFP Module, Enterprise-Class	4	291.20	1,164.80
4.0	SFP-10G-LR-S=	10GBASE-LR SFP Module, Enterprise-Class	4	831.60	3,326.40
5.0	SFP-10G-ER-S=	10GBASE-ER SFP Module, Enterprise-Class	2	3,160.00	6,320.00
٧	Vireless Access Points				
6.0	C9120AXI-B-EDU	Cisco Catalyst 9120AX Series - EDU	60	678.00	40,680.00
6.1.0	NETWORK-PNP-LIC	Network Plug-n-Play Connect for zero-touch device deployment	60	0.00	0.00
6.2.0	WLC-AP-T	Aironet AP License Term Licenses	60	0.00	0.00
6.2.1.0	WLC-AP-T-5Y	Aironet AP License 5 Year Term License	60	0.00	0.00
6.3.0	PI-LFAS-AP-T	Prime AP Term Licenses	60	0.00	0.00
6.3.1.0	PI-LFAS-AP-T-5Y	PI Dev Lic for Lifecycle & Assurance Term 5Y	60	0.00	0.00
6.4.0	AIR-DNA-A-T	Aironet AP License Term Licenses	60	0.00	0.00
6.4.1.0	AIR-DNA-A-T-5Y	Aironet CISCO DNA Advantage 5 Year Term License	60	0.00	0.00
6.5.0	D-CISCODNAS-SEE-T	Cisco DNA Spaces See Term License for Cisco DNA	60	0.00	0.00
6.5.1.0	D-CISCODNAS-SEE-5Y	Cisco DNA Spaces See Term 5Y	60	0.00	0.00
6.6.0	AIR-DNA-NWSTACK-A	AIR CISCO DNA Perpetual Network Stack	60	0.00	0.00

410/510 Houston, TX 77027 USA 713.218.5000



Quote #:	AAAQ329201-02
Date:	02/25/2021
Valid for:	30 Days

Line #	Part	Descrption	Qty	Unit Price	Ext Price
6.7.0	CDNA-A-C9120	Aironet AP License Term Licenses For Tracking	60	0.00	0.00
6.7.1.0	DNA-A-5Y-C9120	C9120AX CISCO DNA Advantage 5 Year Term Licenses	60	0.00	0.00
6.8.0	AIR-AP-T-RAIL-R	Ceiling Grid Clip for Aironet APs - Recessed Mount (Default)	60	0.00	0.00
6.9.0	AIR-AP-BRACKET-1	802.11 AP Low Profile Mounting Bracket (Default)	60	0.00	0.00
6.10.0	SW9120AX-CAPWAP- K9	Capwap software for Catalyst 9120AX	60	0.00	0.00
6.11.0	AIR-DNA-EDU-A	EDU Aironet CISCO DNA Advantage Term Licenses	60	0.00	0.00
6.11.1.0	EDU-DNA-A-5Y	CISCO DNA Advantage Term Licenses for EDU SKUs - 5 Years	60	360.00	21,600.00
7.0	C9130AXI-B-EDU	Cisco Catalyst 9130AX Series - EDU	5	796.00	3,980.00
7.1.0	NETWORK-PNP-LIC	Network Plug-n-Play Connect for zero-touch device deployment	5	0.00	0.00
7.2.0	WLC-AP-T	Aironet AP License Term Licenses	5	0.00	0.00
7.2.1.0	WLC-AP-T-5Y	Aironet AP License 5 Year Term License	5	0.00	0.00
7.3.0	PI-LFAS-AP-T	Prime AP Term Licenses	5	0.00	0.00
7.3.1.0	PI-LFAS-AP-T-5Y	PI Dev Lic for Lifecycle & Assurance Term 5Y	5	0.00	0.00
7.4.0	AIR-DNA-A-T	Aironet AP License Term Licenses	5	0.00	0.00
7.4.1.0	AIR-DNA-A-T-5Y	Aironet CISCO DNA Advantage 5 Year Term License	5	0.00	0.00
7.5.0	D-CISCODNAS-SEE-T	Cisco DNA Spaces See Term License for Cisco DNA	5	0.00	0.00
7.5.1.0	D-CISCODNAS-SEE-5Y	Cisco DNA Spaces See Term 5Y	5	0.00	0.00
7.6.0	AIR-DNA-NWSTACK-A	AIR CISCO DNA Perpetual Network Stack	5	0.00	0.00
7.7.0	CDNA-A-C9130	Aironet AP License Term Licenses For Tracking	5	0.00	0.00
7.7.1.0	DNA-A-5Y-C9130	C9130AX CISCO DNA Advantage 5 Year Tracking SKU	5	0.00	0.00
7.8.0	AIR-AP-T-RAIL-R	Ceiling Grid Clip for Aironet APs - Recessed Mount (Default)	5	0.00	0.00
7.9.0	AIR-AP-BRACKET-1	802.11 AP Low Profile Mounting Bracket (Default)	5	0.00	0.00
7.10.0	SW9130AX-CAPWAP- K9	Capwap software for Catalyst 9130AX	5	0.00	0.00
7.11.0	AIR-DNA-EDU-A	EDU Aironet CISCO DNA Advantage Term Licenses	5	0.00	0.00
7.11.1.0	EDU-DNA-A-5Y	CISCO DNA Advantage Term Licenses for EDU SKUs - 5 Years	5	360.00	1,800.00
Ac	cess Switches				
8.0	C9300-48U-E	Catalyst 9300 48-port UPOE, Network Essentials	16	4,420.00	70,720.00
8.1.0	C9300-NW-E-48	C9300 Network Essentials, 48-port license	16	0.00	0.00
8.2.0	S9300UK9-169	UNIVERSAL	16	0.00	0.00
8.3.0	PWR-C1-1100WAC-P	1100W AC 80+ platinum Config 1 Power Supply	16	0.00	0.00
8.4.0	CAB-TA-NA	North America AC Type A Power Cable	32	0.00	0.00
8.5.0	PWR-C1-1100WAC-P/2	1100W AC 80+ platinum Config 1 Secondary Power Supply	16	760.00	12,160.00
8.6.0	STACK-T1-1M	1M Type 1 Stacking Cable	16	80.00	1,280.00
8.7.0	C9300-SPWR-NONE	No Stack Power Cable Selected	16	0.00	0.00
8.8.0	C9300-DNA-E-48	C9300 DNA Essentials, 48-Port Term Licenses	16	0.00	0.00
8.8.1.0	C9300-DNA-E-48-3Y	C9300 DNA Essentials, 48-port - 3 Year Term License		448.00	7,168.00
8.9.0	C9300-NM-8X	Catalyst 9300 8 x 10GE Network Module	9	1,020.00	9,180.00
8.10.0	NETWORK-PNP-LIC	Network Plug-n-Play Connect for zero-touch device			0.00



Quote #:	AAAQ329201-02
Date:	02/25/2021
Valid for:	30 Days

Houston, TX 77027 USA 713.218.5000

Line #	Part	Descrption	Qty	Unit Price	Ext Price
9.0	C9300-48UN-E	Catalyst 9300 48-port of 5Gbps Network Essentials	4	5,000.00	20,000.00
9.1.0	C9300-NW-E-48	C9300 Network Essentials, 48-port license	4	0.00	0.00
9.2.0	S9300UK9-169	UNIVERSAL	4	0.00	0.00
9.3.0	PWR-C1-1100WAC-P	1100W AC 80+ platinum Config 1 Power Supply	4	0.00	0.00
9.4.0	CAB-TA-NA	North America AC Type A Power Cable	8	0.00	0.00
9.5.0	PWR-C1-1100WAC-P/2	1100W AC 80+ platinum Config 1 Secondary Power Supply	4	760.00	3,040.00
9.6.0	STACK-T1-3M	3M Type 1 Stacking Cable	4	120.00	480.00
9.7.0	C9300-SPWR-NONE	No Stack Power Cable Selected	4	0.00	0.00
9.8.0	NM-BLANK-T1	Cisco Catalyst Type 1 Network Module Blank	4	0.00	0.00
9.9.0	C9300-DNA-E-48	C9300 DNA Essentials, 48-Port Term Licenses	4	0.00	0.00
9.9.1.0	C9300-DNA-E-48-3Y	C9300 DNA Essentials, 48-port - 3 Year Term License	4	448.00	1,792.00
9.10.0	NETWORK-PNP-LIC	Network Plug-n-Play Connect for zero-touch device deployment	4	0.00	0.00
Techno	logy Building			Sub T	otal 62,510.00
W	/ireless LAN Controller				
10.0	EDU-C9800-40-K9	EDU SKU - Cisco Catalyst 9800-40 Wireless Controller	2	15,200.00	30,400.00
10.1.0	SC980040K9-1610	Cisco Catalyst 9800-40 Wireless Controller	2	0.00	0.00
10.2.0	C9800-PWR-BLANK	Cisco 9800 Wireless Controller PS Blank	2	0.00	0.00
10.3.0	C9800-AC-750W-R	Cisco Catalyst 9800-40 750W AC Power Supply, Reverse Air	2	0.00	0.00
10.4.0	CAB-AC	AC Power Cord (North America), C13, NEMA 5-15P, 2.1m	2	0.00	0.00
10.5.0	CON-SNT-EDUC9849	SNTC-8X5XNBD EDU SKU - Cisco Catalyst 9800-40 Wireles Duration: 5.00 Years	2	16,055.00	32,110.00
UPS				Sub T	otal 19,595.60

					,
	UPS				
11.0	SRT5KRMXLT	SMART UPS SRT 5000VA RM 208V	4	3,819.00	15,276.00
12.0	SRT192BP	SMART UPS SRT 192V 5KVA & 6KVA BATT PK	4	920.00	3,680.00
13.0	SRTRK3	2 POST MTG RAIL KIT FOR SMART UPS SRT	4	159.90	639.60

Elementary 6 - E-Rate

Grand Total USD	310,733.04
Shipping	0.00
Tax/Vat	0.00
Total	310,733.04

NETSYNC
2500 West Loop South, Ste.
410/510
Houston, TX 77027 USA

713.218.5000



Quote #:	AAAQ329219-02					
Date:	02/25/2021					
Valid for:	30 Days					

Customer	Inside Sales	Account Manager
Aledo ISD	Timothy Fain	Kristy L Dice
Michael Lotter / (817) 207-3051	tfain@netsync.com	kdice@netsync.com
mlotter@aledoisd.org	512-762-1365	

Please send purchase order to: PO@netsync.com

Line #	Part	Descrption	Qty	Unit Price E	xt Price
Elemen	tary School 6			Sub Tota	l 158,269.77
	ccess Switches				
1.0	C9300-48UN-E	Catalyst 9300 48-port of 5Gbps Network Essentials	1	5,000.00	5,000.00
1.1.0	C9300-NW-E-48	C9300 Network Essentials, 48-port license	1	0.00	0.00
1.2.0	S9300UK9-1612	Cisco Catalyst 9300 XE 16.12 UNIVERSAL	1	0.00	0.00
1.3.0	PWR-C1-1100WAC-P	1100W AC 80+ platinum Config 1 Power Supply	1	0.00	0.00
1.4.0	PWR-C1-1100WAC-P/2	1100W AC 80+ platinum Config 1 Secondary Power Supply	1	760.00	760.00
1.5.0	CAB-TA-NA	North America AC Type A Power Cable	2	0.00	0.00
1.6.0	C9300-SSD-NONE	No SSD Card Selected	1	0.00	0.00
1.7.0	NM-BLANK-T1	Cisco Catalyst Type 1 Network Module Blank	1	0.00	0.00
1.8.0	C9300-DNA-E-48	C9300 DNA Essentials, 48-Port Term Licenses	1	0.00	0.00
1.8.1.0	C9300-DNA-E-48-3Y	C9300 DNA Essentials, 48-port - 3 Year Term License	1	448.00	448.00
1.9.0	NETWORK-PNP-LIC	Network Plug-n-Play Connect for zero-touch device deployment	1	0.00	0.00
1.10.0	STACK-T1-3M	3M Type 1 Stacking Cable	1	120.00	120.00
1.11.0	C9300-SPWR-NONE	No Stack Power Cable Selected	1	0.00	0.00
2.0	C9300-48U-E	Catalyst 9300 48-port UPOE, Network Essentials	7	4,420.00	30,940.00
2.1.0	C9300-NW-E-48	C9300 Network Essentials, 48-port license	7	0.00	0.00
2.2.0	S9300UK9-169	UNIVERSAL	7	0.00	0.00
2.3.0	PWR-C1-1100WAC-P	1100W AC 80+ platinum Config 1 Power Supply	7	0.00	0.00
2.4.0	CAB-TA-NA	North America AC Type A Power Cable	14	0.00	0.00
2.5.0	PWR-C1-1100WAC-P/2	1100W AC 80+ platinum Config 1 Secondary Power Supply	7	760.00	5,320.00
2.6.0	STACK-T1-1M	1M Type 1 Stacking Cable	7	80.00	560.00
2.7.0	C9300-SPWR-NONE	No Stack Power Cable Selected	7	0.00	0.00
2.8.0	C9300-DNA-E-48	C9300 DNA Essentials, 48-Port Term Licenses	7	0.00	0.00
2.8.1.0	C9300-DNA-E-48-3Y	C9300 DNA Essentials, 48-port - 3 Year Term License	7	448.00	3,136.00
2.9.0	C9300-NM-8X	Catalyst 9300 8 x 10GE Network Module	7	1,020.00	7,140.00
2.10.0	NETWORK-PNP-LIC	Network Plug-n-Play Connect for zero-touch device deployment	7	0.00	0.00
0	ptics				
3.0	SFP-10G-SR-S=	10GBASE-SR SFP Module, Enterprise-Class	4	291.20	1,164.80
4.0	SFP-10G-LR-S=	10GBASE-LR SFP Module, Enterprise-Class	4	831.60	3,326.40
5.0	SFP-10G-ER-S=	10GBASE-ER SFP Module, Enterprise-Class	2	3,160.00	6,320.00
W	ireless Access Points				
6.0	C9120AXI-B-EDU	Cisco Catalyst 9120AX Series - EDU	17	678.00	11,526.00
6.1.0	NETWORK-PNP-LIC	Network Plug-n-Play Connect for zero-touch device deployment	17	0.00	0.00

QUOTE AAAQ329219-02

Quote #:	AAAQ329219-02				
Date:	02/25/2021				
Valid for:	30 Days				

Houston, TX 77027 USA 713.218.5000

Line #	Part	Descrption	Qty	Unit Price	Ext Price
6.2.0	WLC-AP-T	Aironet AP License Term Licenses	17	0.00	0.00
6.2.1.0	WLC-AP-T-5Y	Aironet AP License 5 Year Term License	17	0.00	0.00
6.3.0	PI-LFAS-AP-T	Prime AP Term Licenses	17	0.00	0.00
6.3.1.0	PI-LFAS-AP-T-5Y	PI Dev Lic for Lifecycle & Assurance Term 5Y	17	0.00	0.00
6.4.0	AIR-DNA-A-T	Aironet AP License Term Licenses	17	0.00	0.00
6.4.1.0	AIR-DNA-A-T-5Y	Aironet CISCO DNA Advantage 5 Year Term License	17	0.00	0.00
6.5.0	D-CISCODNAS-SEE-T	Cisco DNA Spaces See Term License for Cisco DNA	17	0.00	0.00
6.5.1.0	D-CISCODNAS-SEE-5Y	Cisco DNA Spaces See Term 5Y	17	0.00	0.00
6.6.0	AIR-DNA-NWSTACK-A	AIR CISCO DNA Perpetual Network Stack	17	0.00	0.00
6.7.0	CDNA-A-C9120	Aironet AP License Term Licenses For Tracking	17	0.00	0.00
6.7.1.0	DNA-A-5Y-C9120	C9120AX CISCO DNA Advantage 5 Year Term Licenses	17	0.00	0.00
6.8.0	AIR-AP-T-RAIL-R	Ceiling Grid Clip for Aironet APs - Recessed Mount (Default)	17	0.00	0.00
6.9.0	AIR-AP-BRACKET-1	802.11 AP Low Profile Mounting Bracket (Default)	17	0.00	0.00
6.10.0	SW9120AX-CAPWAP- K9	Capwap software for Catalyst 9120AX	17	0.00	0.00
6.11.0	AIR-DNA-EDU-A	EDU Aironet CISCO DNA Advantage Term Licenses	17	0.00	0.00
6.11.1.0	EDU-DNA-A-5Y	CISCO DNA Advantage Term Licenses for EDU SKUs - 5 Years	17	360.00	6,120.00
Ex	terior APs				
7.0	AIR-AP1562I-B-K9	802.11ac W2 Low-Profile Outdoor AP, Internal Ant, B Reg Dom.	8	910.10	7,280.80
7.1.0	SWAP1560-MESH-K9	Cisco 1560 Series Unified Mesh Mode Software	8	0.00	0.00
7.2.0	AIR-ACC1530-PMK1	Standard Pole/Wall Mount Kit for AP1530/1560 Series	8	52.50	420.00
7.3.0	AIR-DNA-E	Wireless Cisco DNA On-Prem Essential, Term Lic	8	0.00	0.00
7.3.1.0	AIR-DNA-E-5Y	Wireless Cisco DNA On-Prem Essential, 5Y Term Lic	8	180.60	1,444.80
7.4.0	PI-LFAS-AP-T	Prime AP Term Licenses	8	0.00	0.00
7.4.1.0	PI-LFAS-AP-T-5Y	PI Dev Lic for Lifecycle & Assurance Term 5Y	8	0.00	0.00
7.5.0	AIR-DNA-NWSTACK-E	AIR CISCO DNA Perpetual Network Stack	8	0.00	0.00
7.6.0	AIR-DNA-E-T	Wireless Cisco DNA On-Prem Essential, Term, Tracker Lic	8	0.00	0.00
7.6.1.0	AIR-DNA-E-T-5Y	Wireless Cisco DNA On-Prem Essential, 5Y Term, Tracker Lic	: 8	0.00	0.00
A	Ps with Covers				
8.0	C9120AXE-B-EDU	Cisco Catalyst 9120AX Series for EDU	2	864.60	1,729.20
8.1.0	SW9120AX-CAPWAP- K9	Capwap software for Catalyst 9120AX	2	0.00	0.00
8.2.0	AIR-AP-BRACKET-1	802.11 AP Low Profile Mounting Bracket (Default)	2	0.00	0.00
3.3.0	AIR-AP-T-RAIL-R	Ceiling Grid Clip for APs & Cellular Gateways-Recessed	2	0.00	0.00
3.4.0	AIR-ANT2524DW-R	2.4 GHz 2 dBi/5 GHz 4 dBi Dipole Ant., White, RP-TNC	8	22.60	180.80
8.5.0	CDNA-A-C9120	Wireless Cisco DNA On-Prem Advantage, 9120 Tracking	2	0.00	0.00
8.5.1.0	DNA-A-5Y-C9120	C9120AX Cisco DNA On-Prem Advantage,5Y Term,Trk Lic	2	0.00	0.00
8.6.0	AIR-DNA-EDU-A	Wireless Cisco DNA On-Prem Advantage, Term, EDU Lic	2	0.00	0.00
8.6.1.0	EDU-DNA-A-5Y	Wireless Cisco DNA On-Prem Advantage, 5Y Term, EDU Lic	2	360.00	720.00
8.7.0	PI-LFAS-AP-T	Prime AP Term Licenses	2	0.00	0.00

QUOTE AAAQ329219-02

Quote #:	e #: AAAQ329219-02					
Date:	02/25/2021					
Valid for:	30 Days					

Houston, TX 77027 USA 713.218.5000

Line #	Part	Descrption	Qty	Unit Price	Ext Price
8.7.1.0	PI-LFAS-AP-T-5Y	PI Dev Lic for Lifecycle & Assurance Term 5Y	2	0.00	0.00
8.8.0	AIR-DNA-A-T	Wireless Cisco DNA On-Prem Advantage, Term, Tracker Lic	2	0.00	0.00
8.8.1.0	AIR-DNA-A-T-5Y	Wireless Cisco DNA On-Prem Advantage, 5Y Term, Tracker Lic	2	0.00	0.00
8.9.0	AIR-DNA-NWSTACK-A	AIR CISCO DNA Perpetual Network Stack	2	0.00	0.00
8.10.0	D-DNAS-EXT-T	Cisco DNA Spaces Extend Option for Cisco DNA 1Yr Term	2	0.00	0.00
8.10.1.0	D-DNAS-EXT-5Y	Cisco DNA Spaces Extend Option for Cisco DNA 5Y	2	60.20	120.40
8.11.0	NETWORK-PNP-LIC	Network Plug-n-Play Connect for zero-touch device deployment	2	0.00	0.00
8.12.0	C9120AXE-SINGLE	SINGLE PACK OPTION	2	0.00	0.00
8.13.0	C9120-OVER	C9120AX OVERPACK OPTION	2	0.00	0.00
9.0	ATS-12106P-S-L3T-CG- UBPTB	12X10X6 POLYCARBONATE ENCLOSURE	2	158.50	317.00
UF	PS				
10.0	SRT3000RMXLT	SMART UPS SRT 3000VA RM 208V	2	2,320.00	4,640.00
11.0	SRT96RMBP	SMART UPS SRT 96V 3KVA RM BATT PK	2	960.00	1,920.00
12.0	AP9631	SMARTSLOT NTWK MGMT CARD 2 W/ENVIRO MONI	2	409.60	819.20
13.0	SRT5KRMTF	SMART UPS 5KVA 2U RM STEP DOWN TRANS	3	527.20	1,581.60
14.0	AP9626	STEP-DOWN XFMR RM 2U 208V 120V W/ 5-20 R	2	495.20	990.40
La	bor Route, Switch, Wir	reless			
15.0	NET-PRO-SRVC	Installation & Deployment per SoW. EN: Route & Switch ,EN: Wireless & Mobility	4	1,871.43	7,485.72
Fle	ex for Education				
16.0	A-FLEX-3-EDU	Flex 3.0 for Education	1	0.00	0.00
16.1.0	SVS-FLEX-SUPT-BAS	Basic Support for Flex Plan	1	0.00	0.00
16.2.0	A-FLEX-EAPL-EDU	EntW On-Premises Calling for Education - 37 months Unit Price: 4.37 Each per Month Duration: 3 Years, Billing Frequency: Yearly	81	161.69	13,096.89
16.3.0	A-FLEX-EA-E-K-STU	EA Students for K-12	2835	0.00	0.00
16.4.0	A-FLEX-SME-S	Session Manager (1)	1	0.00	0.00
16.5.0	A-FLEX-SRST-E	SRST Endpoints (1)	98	0.00	0.00
16.6.0	A-FLEX-P-EA	On-Premises Smart License - EA (1)	98	0.00	0.00
16.7.0	A-FLEX-P-ACC	Access Smart License (1)		0.00	0.00
16.8.0	A-FLEX-P-CA	Common Area Smart License (1)	41	0.00	0.00
16.9.0	A-FLEX-P-UCXN	Unity Connection Smart License (1)	98	0.00	0.00
16.10.0	A-FLEX-P-ER	Emergency Responder Smart License (1)	243	0.00	0.00
	A-FLEX-EXP-PAK	Expressway Product Authorization Key (1)	1	0.00	0.00
16.11.0	••••••	On-Premises & Partner Hosted Calling SW Bundle v12.5 (1)	1	0.00	0.00
	A-FLEX-SW-12.5-K9				
16.11.0 16.12.0 16.13.0	A-FLEX-SW-12.5-K9 A-FLEX-C-DEV-ENT	Cloud Device Registration Entitlement	98	0.00	0.00
16.12.0 16.13.0		Cloud Device Registration Entitlement Messaging Entitlement	98 2933		
16.12.0	A-FLEX-C-DEV-ENT			0.00	0.00
16.12.0 16.13.0 16.14.0	A-FLEX-C-DEV-ENT A-FLEX-MSG-ENT	Messaging Entitlement	2933 58644 98	0.00	0.00 0.00 0.00 0.00

NETSYN	
2500 West Loop South, Ste.	
410/510	
LISUSTAN TV 77007 LICA	

QUOTE AAAQ329219-02

Quote #:	AAAQ329219-02				
Date:	e: 02/25/202 ⁻				
Valid for:	30 Days				

Houston, TX 77027 USA 713.218.5000

Line #	Part	Descrption	Qty	Unit Price	Ext Price
Co	onference Phone				
17.0	CP-8832-K9	Cisco 8832 in Charcoal with accessories for North America	2	828.40	1,656.80
17.1.0	CP-8832-POE	Cisco IP Conference Phone 8832 PoE Accessories for Worldwide	2	0.00	0.00
0	ffice Phone				
18.0	CP-8851-K9=	Cisco IP Phone 8851	20	296.20	5,924.00
Te	eacher Phone				
19.0	CP-8811-K9=	Cisco IP Phone 8811 Series	61	243.20	14,835.20
Ca	ampus Voice Gateway				
20.0	ISR4321-V/K9	Cisco ISR 4321 Bundle, w/UC License	1	1,743.10	1,743.10
20.1.0	SL-4320-UC-K9	Unified Communication License for Cisco ISR 4320 Series	1	0.00	0.00
20.2.0	SL-4320-IPB-K9	IP Base License for Cisco ISR 4320 Series	1	0.00	0.00
20.3.0	PWR-4320-AC	AC Power Supply for Cisco ISR 4320	1	0.00	0.00
20.4.0	CAB-AC-C5	AC Power Cord, Type C5, US, Canada	1	0.00	0.00
20.5.0	MEM-FLSH-4G	4G Flash Memory for Cisco ISR 4300 (Soldered on motherboard)	1	0.00	0.00
20.6.0	MEM-4320-4G	4G DRAM for Cisco ISR 4320 (Soldered on motherboard)	1	0.00	0.00
20.7.0	NIM-BLANK	Blank faceplate for NIM slot on Cisco ISR 4400	1	0.00	0.00
20.8.0	SISR4300UK9-166	Cisco ISR 4300 Series IOS XE Universal	1	0.00	0.00
20.9.0	NIM-4FXO	4-port Network Interface Module - FXO (Universal)	1	481.60	481.60
20.10.0	CON-SNT-ISR4321V	SNTC-8X5XNBD Cisco ISR 4321 UC Bundle, PVDM4-32, UC L Duration: 1.00 Years	1	304.50	304.50
La	abor UC				
21.0	NET-PRO-SRVC	Installation & Deployment per SoW. UC: Voice NEW Install	4	2,174.14	8,696.56

Notes

Elementary 6 - Non E-Rate

Grand Total USD	158,269.77
Shipping	0.00
Tax/Vat	0.00
Total	158,269.77



ProComputing

P.O. Box 2720 Grapevine, TX 76099 Phone: (214) 634-2450 PROPOSAL: 138444 DOC. TYPE: SQ DATE: 2/4/2021 SHIP VIA:

REP: JOEMARK/JUSTIN

SOLD TO: ALEDO ISD ACCOUNTS PAYABLE 1008 BAILEY RANCH RD ALEDO, TX 76008-4407 PH. (817) 441-8327 SHIP TO: ALEDO ISD 1008 BAILEY RANCH RD ALEDO, TX 76008-4407 PH. (817) 441-8327

Account:	100021	Reference:		Terms:	Net 15 Days		
Iter	n Number	Description			Quantity	Price	Extended
AP7	-B70-NA-1		nium 70" - 4 x Pen Ves e pack included. ActivIr			\$2,795.00	\$159,315.00
APM	I5YROSS-B		lium (for Titanium IFPs Site Support, 5 years	up to 80)	- 57	\$95.00	\$5,415.00
4	180A12		00-70 (41-70KG) tensic 10UNT for use with int			\$685.00	\$39,045.00
48	1A71001	BalanceBox 40	0 MOBILE STAND MIX	- Fixed He	ight 57	\$495.00	\$28,215.00
T∖	INSTALL	Mobile Insatlla	tion		57	\$175.00	\$9,975.00
						Sub-Total:	\$241,965.00
						Tax:	\$0.00
						Total:	\$241,965.00

FOR ELECTRONIC INVOICING:

SEND REQUEST TO: e-invoice@procomputing.com with your designated email address

E-Mail all purchase orders to sales@procomputing.com, send all payments to the address above.



PROPOSAL FOR PERFORMANCE H470S MINIPC

ALTAR ALTAR

Created by:

Scott Bleth ByteSpeed Prepared for:

Hom

1

Aledo ISD Brooks Moore





Expiration Date: Mar 27, 2021

Prepared for:

Aledo ISD Brooks Moore 1008 Bailey Ranch Road Aledo, TX 76008

Prepared by:

Scott Bleth Vice President - Sales (218) 227-0450 sbleth@bytespeed.com



QUOTE PRODUCT	PRICE	QTY	SUBTOTAL
BYTESPEED PERFORMANCE H470S MINI	\$579.00	57	\$33,003.00
CASE,DESKMINI H470W,HDMI,DP,VGA,USB3.1 X5,USB-C X2,3168 ACBT,LGA1200,120W, DESKMINI	\$0.00	57	\$0.00
PROCESSOR, INTEL I5-10400 HEXACORE, 2.9GHz	\$0.00	57	\$0.00
MEMORY, KINGSTON 8GB DDR4 2666MHz	\$0.00	57	\$0.00
SSD, KINGSTON 128GB 2.5" SATA3	\$0.00	57	\$0.00
ACCESSORY, VESA MOUNT FOR H310S/A300S	\$0.00	57	\$0.00
WIRELESS CARD, INTEL WI-FI 6 AX200, BT, 5.1, M.2	\$0.00	57	\$0.00
CUSTOMER HAS OWN BASE OPERATING SYSTEM	\$0.00	57	\$0.00
LOAD NOTHING	\$0.00	57	\$0.00
FREE SHIPPING FOR MINI PC	\$0.00	57	\$0.00
CABLE, STARTECH 3' HDMI M/M, HDMM3	\$0.00	57	\$0.00
Standard 5-Year Warranty	\$0.00	57	\$0.00
UPGRADE OPT	IONS		
Upgrade to 250GB M.2 SSD	\$25.00	57	\$1,425.00
Upgrade to 500GB M.2 SSD	\$45.00	57	\$2,565.00
Webcam, Logitech C270 USB 2.0 Black 1280x720	\$37.99	1	\$37.99

MONITOR OPTIONS							
MONITOR, ASUS 22" LED LCD 1920x1080 16:9 \$135.00 1 \$135.							
MONITOR, ASUS 24" LED LCD W/SPKRS 1920x1080 16:9 2ms	\$195.00	1	\$195.00				
MONITOR, ASUS 27" LED 16:9 2MS 1920x1080 W/SPKRS	\$225.00	1	\$225.00				

Subtotal \$33,003.00

Tax **\$0.00**

Total \$33,003.00



Currently in stock and ready to ship ASAP!

PLEASE NOTE:

Due to worldwide product constraints, we cannot guarantee pricing for quotes more than 7 days old. Please confirm pricing and availability before ordering.

AGREED TO AND ACCEPTED:



ByteSpeed Performance H470S MINI

The ByteSpeed Performance H470S MINI features 10th generation Intel processors. The ByteSpeed Performance H470S MINI measures only $6.10^{\circ} \times 3.15^{\circ} \times 6.10^{\circ}$ with desktop performance. It supports up to three drives, including 2x 2.5" SSDs and 1x m.2 SSD. In addition, this is one of the most power-efficient PCs in the market. It offers an idle power reduction of 33 percent.

ByteSpeed Performance H470S MINI is backed by a 5-year warranty and free lifetime tech support.



Product Features:

- ✓ 10th Generation Processors
- ✓ Up to 64GB Dual Channel DDR4 Memory
- ✓ Triple Display Support
- ✓ VESA-mountable to back of monitor
- ✓ 5-year ByteSpeed Warranty
- ✓ Free Lifetime Tech Support





intel partner



Please see the following page for a ByteSpeed NUC comparison

System Specifications

Chipset:	Intel H470
Processors:	10th Gen Pentium Gold, i3, i5, i7 Processors
Memory:	Supports 2 x SO-DIMM DDR4-2933MHz Max. 64GB
SSD:	Supports up to 3 drives: 2x 2.5" SSDs and 1x m.2 SSD
Graphics:	Integrated Intel UHD Graphics
Video Output:	DP, HDMI, VGA, USB-C w/Display Port Triple Display Support
LAN:	10/100/1000Mbps
Wireless:	Intel Dual Band AX200 Wireless (Optional) Upgradeable options available upon request

Interface:	FRONT: 1x USB 3.1 Gen1 Type-C, 1 x USB 3.1 Gen1 Type-A, Front Audio Ports, 1x Head Phone with MIC Jack, 1x MIC-In
	BACK: 1x D-Sub, HDMI, DisplayPort, 4x USB 3.2 Type-A, 1 USB 3.2 Type-C, RJ45
Audio:	Realtek ALC233 Ports: 1x Headphone w/Mic, 1x Mic In
Other:	VESA mounting plate included
Dimensions:	6.10" x 3.15" x 6.10"
Power Supply:	120W/19V Adapter
Warranty:	5 Year ByteSpeed Warranty Lifetime Tech Support





ByteSpeed NUC PAH vs. ByteSpeed H470S MINI

As a comparable alternative to the NUC, ByteSpeed recommends the H470S MINI, which features a powerful 10th Gen desktop processor and a considerable performance upgrade over the NUC.

	ByteSpeed Performance NUC PAH (Mobile Processors)	ByteSpeed Performance H470S MINI (Desktop Processors)
Processor	Intel Pentium Silver J5005 @ 1.50GHz - 2,901 CPU Mark Intel 11 th Gen i3-1115G4 Up to 4.10 GHz Intel 11 th Gen i5-1135G7 Up to 4.20 GHz Intel 11 th Gen i7-1165G7 Up to 4.70 GHz	Intel Pentium Gold G6400 @ 4.00 GHz Intel 10 th Gen i3-10300 Up to 4.30 GHz Intel 10 th Gen i5-10400 Up to 4.30 GHz Intel 10 th Gen i7-10700 Up to 4.80 GHz
Memory	Up to 64GB dual-channel DDR4	Up to 64GB dual-channel DDR4
HD/SSD	1TB Hybrid HDD, 500GB SATA m.2 SSD 22×42/80 PCIe 128GB/256GB/512GB/1TB SSD	Supports up to 3 drives: 2x 2.5" SSDs and 1x m.2 SSD
Interface	2x front (Type-A, Type-C) and 3x rear USB 3.1 Gen2 (2x Type-A, Type-C), MicroSDXC slot with UHS-II support, 2x Thunderbolt™ 3 via USB-C	FRONT: 1x USB 3.2 Gen1 Type-C, 1 x USB 3.2 Gen 2 Type-A Front Audio Ports, 1x Head Phone with MIC Jack, 1x MIC-In BACK: 1x D-Sub, HDMI, DisplayPort, 1x USB 3.2 Type-C (supports type-c Alt Mode), 4x USB 3.2 Gen1 Type-A, RJ45
Video Output	HDMI 2.0a; USB-C (DP1.4); MiniDP 1.4 (may require adapter) Quad Display Support	2 x DP(one via USB-C), HDMI, VGA Triple Display Support
Graphics	Intel Iris Xe Graphics (i5 & i7) Intel UHD (i3)	Integrated Intel UHD 630 Graphics
Wireless	Intel Wi-Fi 6 AX201 2×2 + Bluetooth v5.1	Intel Wi-Fi 6 AX200 2x2 + Bluetooth v5.1
O/S	Microsoft Windows 10	Microsoft Windows 10
Dimensions	4.5" x 4.375" x 2"	6.10" x 3.15" x 6.10"
Power Supply	12 – 19VDC input range, 19VDC 90W	120W/19V Adapter
Warranty	5-Year Desktop Warranty Free Lifetime Tech Support	5-Year Desktop Warranty Free Lifetime Tech Support

ByteSpeed H470s Mini - Tech Specs

Processors	10th Generation Intel Pentium Gold, i3, i5, i7 Processors
Memory	Supports 2 x SO-DIMM DDR4-2666MHz (Max. 64GB)
Storage	Supports up to 3 drives: 2x 2.5" SSDs and 1x m.2 SSD
Graphics	Integrated Intel UHD Graphics
Video Output	Triple Monitor Support Via: DP, HDMI, VGA, or USB-C w/Display Port
LAN	10/100/1000Mbps
Wireless	Intel Dual Band AX200 Wireless (Optional) Upgradeable options available upon request
Interface	FRONT: 1x USB 3.1 Gen1 Type-C, 1 x USB 3.1 Gen1 Type-A, Front Audio Ports, 1x Head Phone with MIC Jack, 1x MIC-In TOP: 2x USB 2.0
	BACK: 1x D-Sub, HDMI, DisplayPort, 4x USB 3.2 Type-A, 1x USB 3.2 Type C, RJ45
Audio	Realtek ALC233 Ports: 1x Headphone w/Mic, 1x Mic In
Other	VESA mounting plate included
Dimensions	6.10" x 3.15" x 6.10"
Power Supply	120W/19V Adapter
Warranty	5 Year ByteSpeed Warranty Lifetime Tech Support



A quote for your consideration.

Based on your business needs, we put the following quote together to help with your purchase decision. Below is a detailed summary of the quote we've created to help you with your purchase decision.

To proceed with this quote, you may respond to this email, order online through your **Premier page**, or, if you do not have Premier, use this **Quote to Order**.

Quote No. Total Customer # Quoted On Expires by Deal ID **3000080550619.1 \$754,011.75** 82002692 Mar. 09, 2021 Apr. 08, 2021 21663251

Sales Rep Phone Email **Billing To** Tyler Pritchard (800) 456-3355, 6180539 Tyler_Pritchard@Dell.com ACCOUNTS PAYABLE ALEDO ISD 1008 BAILEY RANCH RD ALEDO, TX 76008

Message from your Sales Rep

Please contact your Dell sales representative if you have any questions or when you're ready to place an order. Thank you for shopping with Dell!

Regards, Tyler Pritchard

Shipping Group

Shipping To MATT ODOM ALEDO ISD 117 VERNON RD ALEDO, TX 76008-3101 (817) 992-9905 Shipping Method Standard Delivery

Product	Unit Price	Quantity	Subtotal
Ergotron YES Basic Charging Cart - cart	\$824.55	85	\$70,086.75
Chromebook 11 3100	\$241.50	2500	\$603,750.00
NEW GOOGLE CHROME EDU PERPETUAL LICENSE SKU WITH UPDATED PRICING AS OF 3/9/2021.	\$32.07	2500	\$80,175.00

\$754,011.75	Subtotal:
\$0.00	Shipping:
\$754,011.75	Non-Taxable Amount:
\$0.00	Taxable Amount:
\$0.00	Estimated Tax:
\$754,011.75	Total:

Special lease pricing may be available for qualified customers. Please contact your DFS Sales Representative for details.

Shipping Group Details

Shipping To

MATT ODOM ALEDO ISD 117 VERNON RD ALEDO, TX 76008-3101 (817) 992-9905

Shipping Method Standard Delivery

			Quantity	Subtotal
Ergotron YES Basic Charging Cart - cart Estimated delivery if purchased today: Mar. 24, 2021		\$824.55	85	\$70,086.75
Contract # C00000006841 Customer Agreement # TX DIR-TSO-3763				
Description	SKU	Unit Price	Quantity	Subtotal
Ergotron YES Basic Charging Cart - cart	A9585622	-	85	-
			Quantity	Subtotal
Chromebook 11 3100 Estimated delivery if purchased today: Mar. 30, 2021 Contract # C00000006841 Customer Agreement # TX DIR-TSO-3763		\$241.50	2500	\$603,750.00
Description	SKU	Unit Price	Quantity	Subtotal
Dell Chromebook 3100	210-ARJL	-	2500	-
Intel Celeron N4020 (Dual Core, up to 2.8GHz, 4M Cache, 6W)	338-BUUG	-	2500	-
4GB 2400MHz LPDDR4 Non-ECC	370-ADZI	-	2500	-
32GB eMMC Hard Drive	400-AWCZ	-	2500	-
11.6" HD (1366 x 768) Embedded Touch, Camera & Microphone, WLAN Capable	391-BDXX	-	2500	-
US English Keyboard, non-backlit	580-AHRW	-	2500	-
Intel(R) Dual Band Wireless AC 9560 (802.11ac) 2x2 + Bluetooth 5.0	555-BEVK	-	2500	-
Primary 3-Cell 42WHr Battery	451-BCNK	-	2500	-
65W AC Adapter 250V,1M	492-BCNV	-	2500	-
US Power Cord	537-BBBL	-	2500	-
Quick Start Guide	340-CKUZ	-	2500	-
No Carrying Case	460-BBEX	-	2500	-
SERI Guide (ENG/FR/Multi)	340-AGIK	-	2500	-
Fixed Hardware Configuration	998-DYKM	-	2500	-
Label 0X03	389-DPUG	-	2500	-
Min Config Packaging	340-CLRT	-	2500	-
Dell,Regulatory Label,FCC,25WX13HMM,R0.5	389-DPTG	-	2500	-
BTS/BTP Smart Selection Shipment, Chromebook (VS)	800-BBQM	-	2500	-
EAN label	389-BKKL	-	2500	-
No UPC Label	389-BCGW	-	2500	-
Not Included	631-ABBH	-	2500	-
Touch LCD Cover	320-BCTL	-	2500	-

			Total:	\$754,011.75
		Estin	Subtotal: Shipping: nated Tax:	\$754,011.75 \$0.00 \$0.00
NEW GOOGLE CHROME EDU PERPETUAL LICENSE SKU WITH UPDATED PRICING AS OF 3/9/2021.	AB543620	-	2500	-
Description	SKU	Unit Price	Quantity	Subtotal
NEW GOOGLE CHROME EDU PERPETUAL LICENSE S UPDATED PRICING AS OF 3/9/2021. Estimated delivery if purchased today: Apr. 01, 2021 Contract # C00000006841 Customer Agreement # TX DIR-TSO-3763	KU WITH	\$32.07	2500	\$80,175.00
			Quantity	Subtotal
Onsite/In-Home Service After Remote Diagnosis, 1 Year	823-5180	-	2500	-
Dell Limited Hardware Warranty Initial Year	823-5168	-	2500	-

Important Notes

Terms of Sale

This Quote will, if Customer issues a purchase order for the quoted items that is accepted by Supplier, constitute a contract between the entity issuing this Quote ("Supplier") and the entity to whom this Quote was issued ("Customer"). Unless otherwise stated herein, pricing is valid for thirty days from the date of this Quote. All product, pricing and other information is based on the latest information available and is subject to change. Supplier reserves the right to cancel this Quote and Customer purchase orders arising from pricing errors. Taxes and/or freight charges listed on this Quote are only estimates. The final amounts shall be stated on the relevant invoice. Additional freight charges will be applied if Customer requests expedited shipping. Please indicate any tax exemption status on your purchase order and send your tax exemption certificate to Tax Department@dell.com or ARSalesTax@emc.com, as applicable.

Governing Terms: This Quote is subject to: (a) a separate written agreement between Customer or Customer's affiliate and Supplier or a Supplier's affiliate to the extent that it expressly applies to the products and/or services in this Quote or, to the extent there is no such agreement, to the applicable set of Dell's Terms of Sale (available at www.dell.com/terms or www.dell.com/oemterms), or for cloud/as-a-Service offerings, the applicable cloud terms of service (identified on the Offer Specific Terms referenced below); and (b) the terms referenced herein (collectively, the "Governing Terms"). Different Governing Terms may apply to different products and services on this Quote. The Governing Terms apply to the exclusion of all terms and conditions incorporated in or referred to in any documentation submitted by Customer to Supplier.

Supplier Software Licenses and Services Descriptions : Customer's use of any Supplier software is subject to the license terms accompanying the software, or in the absence of accompanying terms, the applicable terms posted on www.Dell.com/eula. Descriptions and terms for Supplier-branded standard services are stated at www.dell.com/servicecontracts/global or for certain infrastructure products at www.dellemc.com/en-us/customer-services/product-warranty-and-service-descriptions.htm

Offer-Specific, Third Party and Program Specific Terms: Customer's use of third-party software is subject to the license terms that accompany the software. Certain Supplier-branded and third-party products and services listed on this Quote are subject to additional, specific terms stated on www.dell.com/offeringspecificterms ("Offer Specific Terms").

In case of Resale only: Should Customer procure any products or services for resale, whether on standalone basis or as part of a solution, Customer shall include the applicable software license terms, services terms, and/or offer-specific terms in a written agreement with the end-user and provide written evidence of doing so upon receipt of request from Supplier.

In case of Financing only: If Customer intends to enter into a financing arrangement ("Financing Agreement") for the products and/or services on this Quote with Dell Financial Services LLC or other funding source pre-approved by Supplier ("FS"), Customer may issue its purchase order to Supplier or to FS. If issued to FS, Supplier will fulfill and invoice FS upon confirmation that: (a) FS intends to enter into a Financing Agreement with Customer for this order; and (b) FS agrees to procure these items from Supplier. Notwithstanding the Financing Agreement, Customer's use (and Customer's resale of and the end-user's use) of these items in the order is subject to the applicable governing agreement between Customer and Supplier, except that title shall transfer from Supplier to FS instead of to Customer. If FS notifies Supplier after shipment that Customer is no longer pursuing a Financing Agreement for these items, or if Customer fails to enter into such Financing Agreement within 120 days after shipment by Supplier, Customer shall promptly pay the Supplier invoice amounts directly to Supplier.

Customer represents that this transaction does not involve: (a) use of U.S. Government funds; (b) use by or resale to the U.S. Government; or (c) maintenance and support of the product(s) listed in this document within classified spaces. Customer further represents that this transaction does not require Supplier's compliance with any statute, regulation or information technology standard applicable to a U.S. Government procurement.

For certain products shipped to end users in California, a State Environmental Fee will be applied to Customer's invoice. Supplier encourages customers to dispose of electronic equipment properly.

Electronically linked terms and descriptions are available in hard copy upon request.